GD%Mmuﬁ Wirbsheet H
@ @ Fizm?

) - 6o 3.3} = 223, W

,\L} 'E“‘ N T ¥R (Fi

.
«d

g (o) Ga o

.
P ZpvL g
R g

‘-..1[5 ]

<
“poloxy s 146N

Constord Velocih flecelecede

AR = v ot
Vg S 3 =06 +ald)
- 4,6 b= Yoo Gz 075 mis®
¢ _ .
- I"‘zr = .90 “s |
F& ToWea, g (Q\-‘f 5) - /|5’ Iy

Fy= g
- Z(_Chg) - (9.6 W

O o apenje gewrst

tx 35 PSPV
CZl - - lg vy (-”“""‘“‘é;"'”" .

V '\C =7 Z VVL-/_S'
Zlo = m (?f%’)
m = 47 . Lf K ‘9 _ gj ) %KCE){?_{%}L

¢

i
M



fr- g = e

#'\ /;i\aﬂ
@ A7, e
M
Fr “('WO)C% 5)= (1% 9I&D
Fr = 30 8oow
. ”
( i) @ L) ﬁ SN ,
y L
‘: AR
) ’i{z
J
VR |
vp =0 VE = v +ot R
a = — 1 Bwmis 0 v — 4 g,f/o )
P ow i@ - { < ;“’)3" ¢ xré M L
78 yoo
3 AP 1,,j)_[: _,——JE—-" ‘/6»
<+ 3 ( ) 72§ oD s
L 0% = (YO
t~ ggxoj Vo= 1RO m/5
—— /—____/
Vi
(¢c) vajmo, on
V; =0 d= ( +uﬁc) y /‘/_'/&t
V,F: 280""/5 .)(/6 (O-LZZO t.—_ Zgo> O-{—O-(?i“'()
G = o
d= {x/03 m “ o 34 m/‘,.
L=7 'é = ;, /45
gmj\\a J(’ﬁ
o= C? gfﬂ/f"' (Owl Lovce ety W 7fV,’9,7)



M= 7/01&3

j = ﬁtg/ m/('l/

a. = ? <
/) ?D(c(/?) = ?’Oé’ﬁl)

F =
F = 3430 NV

J/

Frcte= Gjom= Fy =mes

|

f
\

4 & ogo N
pushimg
d= 0.Z wm
VC =0
Vg = !
a=7¢
+ =7
J = \f(: -+ V-C ) t
z

(0,z:<o+§ﬁé> =
,f =

\VJ
g
y@r lj, [xfu f j
[}* 5&\(?’«9 /{/
j Q(' g&"f/’}

{

2
fl 0 (ol s
VA% ‘Lwt

{

Fet = Fr- ‘C3 = mo—
= Mo~

Fr-
pexe)-

}x/p X?‘ g) (//x/ﬁ )&.
o=~ 92 ms im
(a= 42 mi™ dl*’“",)




{f

COL
)
m
| =S
?m;(/ cvo

’ ? W EO NP

Tt k.
g "
e

%?f
gi..-~ef»w -
— C‘X )
%Wz)( :m
7.9)

F
OB e

t0o0( 0:5)
+ DY

C
L.'(:‘&“‘
T
)




	DOC031122-03112022101353
	dynamics worksheet 3 answers

